### Graduate Primary Placement Status by School, Degree, and Program/Major

Program/Major Business, Arts & Sciences	N	N	%				eld		ntinuing ucation	in military		ositive cement (a)	pre	ide my ferred ield	pre	side my ferred field		overall cement (b)	Seeking employment	seeking or not given	Annual Sal	ary
Business, Arts & Sciences				N	%	N	%	N	%	N	N	%	N	%	N	%	N	%	N	N	\$	N
Bachelor																						
Accounting (ACO)	5	1	20.0%	1	100%	-	-	-	-	-	1	100%	-	-	-	-	1	100%	-	-	-	-
Accounting (traditional) (BSA)	8	2	25.0%	1	50.0%	-	-	-	-	-	1	50.0%	1	50.0%		-	2	100%	-	-	\$39,520	1
Applied Management (BMA)	11	6	54.5%	4	66.7%	-	-	1	16.7%	-	5	83.3%	1	16.7%		-	6	100%	-	-	\$49,667	3
Applied Management- Distance (BDM)	12	6	50.0%	3	50.0%	-	-	1	16.7%	-	4	66.7%	1	16.7%	1	16.7%	6	100%	-	-	-	-
Business Administration (BUA)	4	1	25.0%	-	-	1	100%	-	-	-	1	100%	-	-	-	-	1	100%	-	-	-	-
Business Administration (BUO)	4	1	25.0%	1	100%	-	-	-	-	-	1	100%	-	-	-	-	1	100%	-	-	-	-
Business Administration: Banking and Finance (BBF)	1	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
Business Administration: Management (BBM)	3	1	33.3%	-	-	-	-	-	-	-	-	-	-	-	1	100%	1	100%	-	-	-	-
* Business Administration: Marketing (BBK)	1	1	100%																	-	-	-
* Emergency Management & Homeland Security (EHD	) 2	1	50.0%	-	-	_	_	_	_	-	-	-	-	_	_	-	-	_		-	-	_
Emergency Management & Homeland Security																						
(EHM)	4	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
Graphic Design (BGD)	12	3	25.0%	1	33.3%	-	-	-	-	-	1	33.3%	-	-	1	33.3%	2	66.7%	1	-	\$ 46,800	1
Human Services and Restorative Justice (HSJ)	18	5	27.8%	2	40.0%			1	20.0%	-	3	60.0%	-	-	1	20.0%	4	80.0%	1	-	\$ 45,000	2
Management Concentration (BMD)	3	1	33.3%	1	100%	-	-	-	-	-	1	100%	-	-	-	-	1	100%	-	-	-	-
Sport and Event Management Concentration (BBP)	1	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
Associate																						
Baking and Pastry Arts (BK)	7	1	14.3%	1	100%	-	-	-	-	-	1	100%	-	-	-	-	1	100%	-	-	-	-
Business Management (BM)	13	5	38.5%	1	20.0%	-	-	3	60.0%	-	4	80.0%	-	-	-	-	4	80.0%	1	-	\$52,000	1
Business Management (BO)	6	1	16.7%	-	-	-	-	-	-	-	-	-	1	100%	-	-	1	100%	-	-	-	-
Culinary Arts Technology (CY)	7	3	42.9%	2	66.7%	-	-	1	33.3%	-	3	100%	-	-	-	-	3	100%	-	-	\$38,500	2
Human Services and Restorative Justice (HJ)	16	9	56.3%	-	-	-	-	8	88.9%	-	8	88.9%	1	11.1%		-	9	100%	-	-	-	-
Individual Studies (IS)	5	1	20.0%	-	-	-	-	1	100%	-	1	100%	-	-	-	-	1	100%	-	-	-	-
Certificate																						
Brewing and Fermentation Science (BFS)	2	2	100.0%	1	50.0%	_	_	1	50.0%	-	2	100%	_	_	_	-	2	100%	-	_	-	_
* Baking and Pastry Arts (BB)	1	1	100%								_		_	-	_	-	_		-	-	-	
* Culinary Applications (CUA)	2	1	50.0%	-									_	-	_	-			-	-	-	
TOTAL	148	53		20	37.7%	2	3 8%	12	34 0%		40	75.5%	5	9.4%	1	7.5%	49	92.5%	4	_	\$ 45,432	10

2023-24 Graduate Survey 1 6/19/2025

## Graduate Primary Placement Status by School, Degree, and Program/Major

School Degree	Total Grads		urvey ponses	full- fic stu pre	ployed time in eld of udy or ferred field	part in fi stu pref	eloyed e-time eld of dy or ferred eld	ed	ntinuing ucation	Serving in military	Pla	ositive cement (a)	full- a p out: pre	osition side my eferred field	part a p out pro	ployed t-time in position side my eferred field	Pla	verall cement (b)	Seeking employment		Averag Annual Sa (c)	
Program/Major	N	N	%	N	%	N	%	N	%	N	N	%	N	%	N	%	N	%	N	N	\$	N
Engineering Technologies (ET)																						
Bachelor																						
Applied Technology Studies (BAT)	4	2	50.0%	1	50.0%	-	-	-	-	-	1	50.0%	-	-	1	50.0%	2	100%	-	-	-	-
Architecture & Sustainable Design (ASD)	8	5	62.5%	4	80.0%	-	-	1	20.0%	-	5	100%	-	-	-	-	5	100%	-	-	\$49,660	2
Automation Engineering Tech: Mechatronics (AEM)	5	3	60.0%	3	100%	-	-	-	-	-	3	100%	_	-	-	-	3	100%	-	-	\$62,000	2
Automation Engineering Technology: Robotics &																					, - ,	
Automation (AER)	6	2	33.3%	2	100%	-	_	-	-	-	2	100%	-	-	_	-	2	100%	-	-	\$76,000	2
Automotive Technology Management (BAM)	4	2	50.0%	2	100%	-	-	-	-	-	2	100%	-	-	-	-	2	100%	-	-	\$97,000	2
Automotive Technology Management (BAU)	16	6	37.5%	5	83.3%	-	-	-	-	-	5	83.3%	1	16.7%	-	-	6	100%	-	-	\$50,833	3
Aviation Maintenance Technology (BAV)	5	2	40.0%	2	100%	-	-	-	-	-	2	100%	-	-	-	-	2	100%	-	-	\$59,700	2
Building Automation Engineering Technology (BMS)	19	8	42.1%	7	87.5%	-	-	-	-	-	7	87.5%	-	-	-	-	7	87.5%	1	-	\$82,667	3
Building Science & Sustainable Design: Architectural	2	2	4000/	_	4000/						_	4000/					_	4000/			ć 45 000	
Tech (BSD)	3	3	100%	3	100%	-	-	-	-	-	3	100%	-	-	-	-	3	100%	-	-	\$45,000	1
Civil Engineering Technology (BCT)	7	2	28.6%	2	100%	-	-	-	1 1 20/	-	2	100%	-	-	-	-	2	100%	-	-	\$72,000	2
Construction Management (BCM)	18	7	38.9%	6	85.7%	-	-	1	14.3%		7	100%	-	-		-	7	100%	-	-	\$72,125	4
Electronics and Computer Engineering Tech (BEE)	8	2	25.0%	2	100%	-	-	-	-	-	2	100%	-	-	-	-	2	100%	-	-	\$71,000	2
Engineering Design Technology (BEN)	24	10	41.7%	9	90.0%	-	-	-	-	-	9	90.0%	1	10.0%		-	10	100%	-	-	\$55,600	4
Game and Simulation Programming (BSP)	8	1	12.5%	1	100%	-	-	-	-	-	1	100%	-	-	-	-	1	100%	-	-	\$50,000	1
Heating, Ventilation & Air Conditioning Engineering	40	•	22.20/	_	02.20/				46 70/		_	4000/					_	4000/			¢60 506	2
Technology (HEV)	18	6	33.3%	5	83.3%	-	-	1	16.7%	-	6	100%	-	-	-	-	6	100%	-	-	\$60,536	3
Industrial Design (BIX)	6	1	16.7%	-	-	-	-	-	-	-	-	-	-	-		-	-	-	1	-	-	
Information Assurance and Cyber Security (BCS)	9	3	33.3%	2	66.7%	-	-	1	33.3%	-	3	100%	-	-	-	-	3	100%	-	-	\$98,000	1
Manufacturing Engineering Technology (BAF)	18	6	33.3%	5	100%	-	-	-	-	-	5	100%	-	-	-	-	5	100%	-	1	\$66,750	4
Network Administration & Engineering Tech (BNE)	12	6	50.0%	2	33.3%	-	-	2	33.3%	-	4	66.7%	-	-	1	16.7%	5	83.3%	1	-	-	-
Plastics/Polymer Engineering Tech (BPS)	13	6	46.2%	6	100%	-	-	-	-	-	6	100%	-	-	-	-	6	100%	-	-	\$67,500	2
Residential Construction Tech & Mgt (BRM)	13	2	15.4%	2	100%	-	-	-	-	-	2	100%	-	-	-	-	2	100%	-	-	\$81,000	1
Software Dev & Info Management (BSI)	5	1	20.0%	1	100%	-	-	-	-	-	1	100%	-	-	-	-	1	100%	-	-	\$50,000	1
Welding/Fabrication Engineering Tech (BWE)	44	21	47.7%	17	81.0%	1	4.8%	2	9.5%		20	95.2%	-	-	-	-	20	95.2%	1	-	\$78,492	5
Associate																						
* Apprenticeship Technology (AP)	1	1	100%			-	-	-	-	-			-	-	-	-			-	-	-	-
* Architectural Tech (AT)	1	1	100%			-	_	-	-	-			-	-	-	-			-	-		
Architecture (AX)	20	14	70.0%	2	14.3%	-	-	11	78.6%	-	13	92.9%	-	-	1	7.1%	14	100%	-	-	\$35,360	1
Automated Manufacturing Tech (AF)	18	9	50.0%	5	62.5%	-	-	3	37.5%	-	8	100%	-	-	-	-	8	100%	-	1	\$65,000	4
Automotive Technology (AU)	37	17	45.9%	8	47.1%	-	-	9	52.9%	-	17	100%	-	-	-	-	17	100%	-	-	-	-
Automotive Technology- Honda PACT (AH)	6	2	33.3%	1	50.0%	-	-	1	50.0%	-	2	100%	-	-	-	-	2	100%	-	-	-	-
Automotive Restoration Technology (RS)	1	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
Aviation Technology (AD)	15	7	46.7%	3	42.9%	-	-	3	42.9%	-	6	85.7%	-	-	-	-	6	85.7%	1	-	\$57,133	3
Building Construction Technology (CB)	32	18	56.3%	4	22.2%	-	-	14	77.8%	-	18	100%	-	-	-	-	18	100%	-	-	\$62,813	3
Civil Engineering Technology (CT)	4	2	50.0%	1	50.0%	-	-	1	50.0%	-	2	100%	-	-	-	-	2	100%	I -	-	\$74,000	1

### Graduate Primary Placement Status by School, Degree, and Program/Major

School  Degree	Total Grads	Res	urvey sponses	Employed full-time in field of study or preferred field		in part-tim in field or r study or d preferre field		ed	ntinuing ucation	Serving in military	Placement (a)		a positi outside nt preferr field		Employed part-time in a position outside my preferred field		Overall Placement (b)		Seeking employment		(c)	lary
Program/Major	N	N	%	N	%	N	%	N	%	N	N	%	N	%	N	%	N	%	N	N	\$	N
Associate (continued)																						
Collision Repair Technology (CR)	8	2	25.0%	1	50.0%	_	_	1	50.0%	_	2	100%	l _	_	_	_	2	100%	_	_	_	_
Concrete Science Technology (SS)	7	2	28.6%	2	100%				30.076		2	100%	_				2	100%	_		\$53,720	
Diesel Technology (DD)	18	8	44.4%	8	100%	-				-	8	100%		-			8	100%	_		\$57,516	5
													_									
Electric Power Generation: Diesel Emphasis (DG)	10	6	60.0%	3	50.0%	-	-	2	33.3%	-	5	83.3%	-	-	-	-	5	83.3%	1	-	\$54,750	2
Electrical Construction (EB)	21	6	28.6%	4	66.7%		16.7%		16.7%	-	6	100%	-	-	-	-	6	100%	-	-	\$46,773	3
Electrical Tech (EL)	27	17	63.0%	4	23.5%	-	-	13	76.5%	-	17	100%	-	-	-	-	17	100%	-	-	\$64,027	3
Electronics Tech-Comp Tech-Engineering (EE) Electronics Tech-Comp Tech-Robotics/Bldg	5	1	20.0%	-	-	-	-	1	100%	-	1	100%	-	-	-	-	1	100%	-	-	-	
			=0.00/																			
* Automation Core (RO)	2	1	50.0%	_	27.50/			_	60.50/			1000/					_	4000/			450.000	
Engineering CAD Technology (EN)	19	8	42.1%	3	37.5%	-	-	5	62.5%	-	8	100%	-	-	-	-	8	100%	-	-	\$60,000	2
Forest Technology (FR)	22	7	31.8%	4	57.1%	-	-	2	28.6%	-	6	85.7%	-	-	1	14.3%	7	100%	-	-	\$40,735	4
Heating, Ventilation & Air Conditioning Tech (HV)	53	23	43.4%	14	60.9%	-	-	8	34.8%	1	22	100%	-	-	-	-	22	100%	-	-	\$50,000	9
Heavy Construction Equip Tech- Technician (HE)	16	5	31.3%	4	80.0%	-	-	1	20.0%	-	5	100%	-	-	-	-	5	100%	-	-	\$74,500	2
Heavy Construction Equip Tech-CAT (CH)	4	2	50.0%		100.0%	-	-	-	-	-	2	100%	-	-	-	-	2	100%	-	-	\$45,760	1
Heavy Construction Equip Tech-Operator (HY)	21	5	23.8%	2	40.0%	-	-	2	40.0%	-	4	80.0%	1	20.0%		-	5	100%	-	-	\$54,125	2
Information Tech: Network and User Support (NS)	19	12	63.2%	1	8.3%	-	-	7	58.3%	-	8	66.7%	-	-	2	16.7%	10	83.3%	2	-	\$48,500	1
* Landscape/Horticulture Tech-Landscape (LE)	1	1	100%																			
Landscape/Plant Production Technology (LT)	15	3	20.0%	1	33.3%	-	-	2	66.7%	-	3	100%	-	-	-	-	3	100%	-	-	\$25,000	1
Machine Tool Technology/Toolmaking Tech (MY)	20	11	55.0%	5	45.5%	-	-	6	54.5%	-	11	100%	-	-	-	-	11	100%	-	-	\$71,900	5
Mechatronics Technology (MX)	11	4	36.4%	1	25.0%	-	-	3	75.0%	-	4	100%	-	-	-	-	4	100%	-	-	\$80,000	1
Metal Fabrication Technology (MF)	3	1	33.3%	-	-	-	-	1	100%	-	1	100%	-	-	-	-	1	100%	-	-	-	
Non-Destructive Testing (NDT)	3	1	33.3%	-	-	-	-	1	100%	-	1	100%	-	-	-	-	1	100%	-	-	-	
Plastics/Polymer Tech (PS)	1	1	100%																			
Welding Tech (WA)	52	22	42.3%	14	63.6%	-	-	8	36.4%	-	22	100%	-	-	-	-	22	100%	-	-	\$63,730	11
Surveying Tech (SU)	1	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
Certificate													l									
Automotive Restoration Technology (RST)	4	2	50.0%	2	100%	-	-	-	-	-	2	100%	-	-	-	-	2	100%	-	-	\$46,500	2
CNC Machinist (CNC)	11	4	36.4%	2	50.0%	-	-	1	25.0%	-	3	75.0%	1	25.0%		-	4	100%	-	-	\$62,500	2
Plumbing (PH)	18	7	38.9%	6	85.7%	-	-	1	14.3%	-	7	100%	-	-	-	-	7	100%	-	-	\$46,333	3
Welding (WE)	3	1	33.3%	1	100.0%	-	-	-	-	-	1	100%	-	-	-	-	1	100%	-	-	\$81,000	1_
Total	803	341	42.5%	200	59.0%	2	0.6%	118	34.8%	1	321	94.7%	4	1.2%	6	1.8%	331	97.6%	8	2	\$ 61,222	123

### Graduate Primary Placement Status by School, Degree, and Program/Major

School Degree	Total Survey Grads Respons		•	full- fi st pre	ployed time in eld of udy or eferred field	par in fi stu pre	oloyed t-time ield of idy or ferred ield		ntinuing ucation	Serving in military		ositive cement (a)	full- a p out: pre	ployed -time in osition side my eferred field	part a p out pre	ployed -time in osition side my eferred field	c	Overall cement (b)	Seeking employment	Not seeking or not given	Averag Annual Sa (c)	•
Program/Major	N	N	%	N	%	N	%	N	%	N	N	%	N	%	N	%	N	%	N	N	\$	N
Nursing & Health Science (HS)																						
Bachelor																						
Applied Health Studies (BAH)	7	3	42.9%	2	66.7%	-	-	1	33.3%	-	3	100%	-	-	-	-	3	100%	-	-	\$79,500	2
Applied Health Studies-OC-Occup Therapy (BAO)	1	_	_	_	_	_	_	_	_	_	_	_	_	_	_	_	_	_	_	_	_	_
Applied Health Studies-Rad-Radiography (BAR)	3	1	33.3%	1	100%	_	-	-	-	-	1	100%	-	-	-	-	1	100%	_	-	-	
* Applied Health Studies-SG-Surgical Tech (BAG)	1	1	100%																			
Dental Hygiene (BDE)	5	3	60.0%	3	100%	-	-	-	-	-	3	100%	-	-	-	-	3	100%	-	-	-	-
Dental Hygiene (BDO)	28	11	39.3%	10	90.9%	-	-	-	-	-	10	90.9%	1	9.1%	-	-	11	100%	-	-	\$61,340	5
Health Science (BSH)	3	2	66.7%	-	-	-	-	2	100%		2	100%	-	-	-	-	2	100%	-	-	-	-
Nursing-Completion (post RN) (BSN)	2	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
Nursing-Susquehanna (BNA)	10	4	40.0%	4	100%	-	-	-	-	-	4	100%	-	-	-	-	4	100%	-	-	\$76,000	1
Nursing-Traditional (BGN)	38	13	34.2%	12	92.3%	-	-	1	7.7%	-	13	100%	-	-	-	-	13	100%	-	-	\$69,584	3
Physical Therapist Assistant Concentration (BAL)	1	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
Associate																						
Allied Health (AHS)	10	3	30.0%	1	33.3%	_	_	1	33.3%	_	2	66.7%	1	33.3%	_	_	3	100%	_	_	_	_
Dental Hygiene (DH)	34	23	67.6%	12	52.2%		_	11	47.8%	_	23	100%	-	-	_	_	23	100%	_	_	\$71,080	9
Nursing (NR)	37	16	43.2%	11	68.8%	-	_	4	25.0%	_	15	93.8%	-	_	-	_	15	93.8%	1	_	\$75,073	4
Nursing LPN-RN (NL)	28	10	35.7%	6	60.0%	_	-	4	40.0%	-	10	100%	-	-	_	-	10	100%	_	-	\$69,495	4
Nursing LPN-RN (NLD)	7	3	42.9%	2	66.7%	-	-	1	33.3%	-	3	100%	-	-	-	-	3	100%	-	-	-	
Paramedic Science (SP)	8	1	12.5%	1	100%	-	-	-	-	-	1	100%	-	-	-	-	1	100%	-	-	\$43,000	1
Physical Therapist Assistant (TP)	11	4	36.4%	4	100%	-	-	-	-	-	4	100%	-	-	-	-	4	100%	-	-	\$56,333	3
Practical Nursing (PI)	8	1	12.5%	1	100%	-	-	-	-	-	1	100%	-	-	-	-	1	100%	-	-	-	-
Radiography (RD)	22	5	22.7%	3	60.0%	1	20.0%	1	20.0%	-	5	100%	-	-	-	-	5	100%	-	-	\$61,667	3
Surgical Tech (SG)	6	3	50.0%	1	33.3%	-	-	2	66.7%	-	3	100%	-	-	-	-	3	100%	-	-	-	-
Masters  Master of Science in Nursing & Nursing Education																						
(MNE)	4	2	50.0%	2	100%	_	_	_	_	_	2	100%	_	_	_	_	2	100%	_	_	_	_
Physician Assistant Studies (PHA)	17	8	47.1%	8	100%		-	_	-	-	8	100%	-	-	-	-	8	100%	-	-	\$108,429	7
Total	291	117	40.2%	85	72.6%	1	0.9%	28	23.9%		114	97.4%	2	1.7%	-	-	116	99.1%	1	-	\$ 74,392	42
Grand Summary:	1242	511	41.1%	305	59.9%	5	1.0%	164	32.2%	1	475	93.3%	11	2.2%	10	2.0%	496	97.4%	13	2	\$ 63,480	175

#### Graduate Primary Placement Status by School, Degree, and Program/Major

School Degree	Total Grads		urvey ponses	full- fie stu pre	ployed time in eld of idy or ferred ield	par in f stu pre	oloyed t-time ield of idy or ferred ield		ntinuing ucation	Serving in military	Pla	ositive cement (a)	full a p out pr	nployed I-time in position tside my eferred field	part a p out pre	osition	o	verall cement (b)	Seeking employment	Not seeking or not given		-
Program/Major	N	N	%	N	%	N	%	N	%	N	N	%	N	%	N	%	N	%	N	N	\$	N
SUBTOTALS BY DEGREE LEVEL  Masters	21	10	47.6%	10	100%	0	0	0	0	0	10	100%	0	0.0%	0	0.0%	10	100%	0	0	\$ 108,4	29 7
Bachelor	461	174	37.7%	137	79.2%	2	1.2%	15	8.7%	0	154	89.0%	6	3.5%	6	3.5%	166	96.0%	7	1	\$ 65,5	69 65
Associate	719	309	43.0%	146	47.4%	2	0.6%	145	47.1%	1	293	95.5%	4	1.3%	4	1.3%	301	98.1%	6	1	\$ 59,4	75 95
Certificate	40	18	45.0%	12	66.7%	1	5.6%	4	22.2%	0	17	94.4%	1	5.6%	0	0.0%	18	100%	0	0	\$ 54,7	50 8
COLLEGE TOTAL BY DEGREES AWARDED	1241	511	41.2%	305	59.9%	5	1.0%	164	32.2%	1	475	93.3%	11	2.2%	10	2.0%	496	97.4%	13	2	\$ 63,4	80 175
COLLEGE TOTAL BY HEADCOUNT	1110	458	41.3%	265	58.0%	5	1.1%	155	33.9%	1	426	93.2%	11	2.4%	9	2.0%	446	97.6%	11	1	\$ 63,8	02 147

#### NOTES:

- (a) Positive Placement includes all graduates employed in field of study or preferred field (full-time and part-time), continuing education (full-time and part-time), or serving in the military.
- (b) Overall Placement includes all graduates with positive placement AND all graduates employed in a position outside their preferred field (full-time or part-time).
- (c) Average annual salaries reported here are for graduates employed full-time in field of study or preferred field; salaries are self-reported and may not be starting salaries.
- (d) Salary and placement data for programs with less than three graduates is not disclosed (to protect the confidentiality of the graduate).
- \* Placement data and salary information for programs with few than three graduates is not disclosed, to protect the confidentiality of the graduate. Full-time employment = 30 or more hours per week; Part-time employment = Less than 30 hours per week.

  This table includes data for August 2023, December 2023, and May 2024 graduates.